

1-1-2019

## Inequalities on coefficients for certain classes of m-fold symmetric and bi-univalent functions equipped with Faber polynomial

FETHİYE MÜGE SAKAR

ADNAN CANBULAT

Follow this and additional works at: <https://journals.tubitak.gov.tr/math>



Part of the [Mathematics Commons](#)

---

### Recommended Citation

SAKAR, FETHİYE MÜGE and CANBULAT, ADNAN (2019) "Inequalities on coefficients for certain classes of m-fold symmetric and bi-univalent functions equipped with Faber polynomial," *Turkish Journal of Mathematics*: Vol. 43: No. 1, Article 24. <https://doi.org/10.3906/mat-1808-82>  
Available at: <https://journals.tubitak.gov.tr/math/vol43/iss1/24>

This Article is brought to you for free and open access by TÜBİTAK Academic Journals. It has been accepted for inclusion in Turkish Journal of Mathematics by an authorized editor of TÜBİTAK Academic Journals. For more information, please contact [academic.publications@tubitak.gov.tr](mailto:academic.publications@tubitak.gov.tr).

## Inequalities on coefficients for certain classes of $m$ -fold symmetric and bi-univalent functions equipped with Faber polynomial

F. Müge SAKAR<sup>1,\*</sup>, Adnan CANBULAT<sup>2</sup> 

<sup>1</sup>Department of Business Administration, Faculty of Economics and Administrative Sciences, Batman University, Batman, Turkey

<sup>2</sup>Batman University, Institute of Science, Batman, Turkey

Received: 16.08.2018

Accepted/Published Online: 07.12.2018

Final Version: 18.01.2019

**Abstract:** In this work, considering a new subclass of bi-univalent functions which are  $m$ -fold symmetric and analytic functions in the open unit disk, we determine estimates for the general Taylor–Maclaurin coefficient of the functions in this class. Furthermore, initial upper bounds of coefficients for  $m$ -fold symmetric, analytic and bi-univalent functions were found in this study. For this purpose, we used the Faber polynomial expansions. In certain cases, the coefficient bounds presented in this paper would generalize and improve some recent works in the literature. We hope that this paper will inspire future researchers in applying our approach to other related problems.

**Key words:** Analytic functions, univalent functions, bi-univalent functions, coefficient estimate

### 1. Introduction, preliminaries, known results

Let  $A$  denote the class of functions  $f(z)$  which are analytic in the open unit disk  $\mathcal{U} = \{z \in \mathbb{C} : |z| < 1\}$  and normalized by the conditions  $f(0) = f'(0) - 1 = 0$  showing in the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n. \quad (1.1)$$

We denote by the subclass of all functions in  $\mathcal{S}$  that are univalent in  $\mathcal{U}$ . It is well known that every function  $f$  has an inverse  $f^{-1}$ , which is defined by

$$f^{-1}(f(z)) = z \quad z \in \mathcal{U},$$

$$f(f^{-1}(w)) = w \quad \left( |w| < r_0(f), \quad r_0(f) \geq \frac{1}{4} \right),$$

where

$$g(w) = f^{-1}(w) = w - a_2 w^2 + (2a_2^2 - a_3) w^3 - (5a_2^3 - 5a_2 a_3 + a_4) w^4 + \dots. \quad (1.2)$$

A function  $f \in A$  is said to be bi-univalent in  $\mathcal{U}$  if both  $f$  and  $f^{-1}$  are univalent in  $\mathcal{U}$ . Let  $\Sigma$  denote the class of all functions  $f \in A$  which are bi-univalent in  $\mathcal{U}$  and are given by the equation (1.1).

\*Correspondence: mugesakar@hotmail.com

2010 AMS Mathematics Subject Classification: 30C45

In 1967, Lewin [6] investigated the class  $\Sigma$  and showed that  $|a_2| < 1.51$ . Brannan and Clunie improved Lewin's result to  $|a_2| < \sqrt{2}$ . On the other hand, Netanyahu [8] showed that  $\max|a_2| < \frac{4}{3}$ . Brannan and Taha [3] introduced certain subclasses of the bi-univalent function class  $\Sigma$  similar to the familiar subclasses. On the other hand, the Faber polynomials introduced by Faber [4] play an important role in various areas of mathematical sciences, especially in geometric function theory. Let  $m \in \mathbb{N} = \{1, 2, 3, \dots\}$ . A domain  $E$  is known as  $m$ -fold symmetric if a rotation of  $E$  around origin with an angle  $\frac{2\pi}{m}$  maps  $E$  on itself. A function  $f(z)$  analytic in  $\mathcal{U}$  is said to be  $m$ -fold symmetric ( $m \in \mathbb{N}$ )

$$f(e^{i\frac{2\pi}{m}}z) = e^{i\frac{2\pi}{m}}f(z).$$

Especially, every  $f$  is 1-fold symmetric every odd  $f$  is 2-fold symmetric. We denote by  $\mathcal{S}_m$  the class of  $m$ -fold symmetric univalent functions in  $\mathcal{U}$ . A simple argument shows that  $f \in \mathcal{S}_m$  is characterized by having a power series of the form

$$f(z) = z + \sum_{k=1}^{\infty} a_{mk+1}z^{mk+1} \quad z \in \mathcal{U}, m \in \mathbb{N}. \tag{1.3}$$

Each bi-univalent function generates an  $m$ -fold symmetric bi-univalent function each integer  $m \in \mathbb{N}$ .

In [9] Srivastava et al. defined  $m$ -fold symmetric bi-univalent function analogues to the concept of  $m$ -fold symmetric univalent functions. They gave some important results, such as each function  $f \in \Sigma$  generates an  $m$ -fold symmetric bi-univalent function for each  $f \in \mathbb{N}$ . In their work, for normalized form given by (1.3), they obtained the series expansion for  $f^{-1}$  as follows:

$$\begin{aligned} g(w) &= w - a_{m+1}w^{m+1} + [(m+1)a_{m+1}^2 - a_{2m+1}]w^{2m+1} \\ &\quad - \left[\frac{1}{2}(m+1)(3m+2)a_{m+1}^3 - (3m+2)a_{m+1}a_{2m+1} + a_{3m+1}\right]w^{3m+1} + \dots \\ &= w + \sum_{k=1}^{\infty} A_{mk+1}w^{mk+1} \end{aligned} \tag{1.4}$$

where  $f^{-1} = g$ . We denote by  $\Sigma_m$  the class of  $m$ -fold symmetric bi-univalent functions in  $\mathcal{U}$ . The functions in the class  $\Sigma$  are said to be one-fold symmetric.

For  $m = 1$ , the equality (1.4) coincides with the function (1.2) of the class  $\Sigma_m$ . Here are some remarkable examples on  $m$ -fold symmetric bi-univalent functions (see, e.g., [7] and [9]):

$$\left( \frac{z^m}{1-z^m} \right)^{\frac{1}{m}}, \quad [-\log(1-z^m)]^{\frac{1}{m}}, \quad \left[ \frac{1}{2} \log \left( \frac{1+z^m}{1-z^m} \right) \right]^{\frac{1}{m}},$$

with the corresponding inverse functions

$$\left( \frac{w^m}{1-w^m} \right)^{\frac{1}{m}}, \quad \left( \frac{e^{w^n} - 1}{e^{w^n}} \right)^{\frac{1}{m}}, \quad \left( \frac{e^{2w^m} - 1}{e^{2w^m} + 1} \right)^{\frac{1}{m}}.$$

The coefficient problem for  $m$ -fold symmetric analytic bi-univalent functions is one of the favorite subjects of geometric function theory. Bounds for the initial coefficients of different classes of  $m$ -fold symmetric bi-univalent functions were also investigated by other authors (see, e.g., [5], [9], and [10]). In this paper, we use the Faber polynomial expansions for a subclass of  $m$ -fold symmetric analytic bi-univalent functions to determine estimates for the general coefficient bounds  $|a_{mk+1}|$ . Firstly, we consider a comprehensive class of  $m$ -fold symmetric analytic bi-univalent functions defined by Kant and Vyas [11].

**2. The class  $\mathcal{S}_{\Sigma_m}(\lambda, \tau, \beta, \xi)$**

**Definition 1** For  $0 \leq \lambda \leq 1, 0 \leq \beta \leq 1$ , and  $m \in \mathcal{N}$ , a function  $f \in \Sigma_m$  given by (1.1) is said to be in class  $\mathcal{S}_{\Sigma_m}(\lambda, \tau, \beta, \xi)$  if the following two conditions are satisfied:

$$1 + \frac{1}{\tau} \left[ \frac{zf'(z) + \lambda z^2 f''(z)}{\lambda z f'(z) + (1 - \lambda)f(z)} - 1 \right] \in P_\xi(\beta) \quad \text{and} \tag{2.1}$$

$$1 + \frac{1}{\tau} \left[ \frac{wg'(w) + \lambda w^2 g''(w)}{\lambda w g'(w) + (1 - \lambda)g(w)} - 1 \right] \in P_\xi(\beta), \tag{2.2}$$

where  $\tau \in \mathcal{C} - \{0\}$ , the function  $g = f^{-1}$  given by (1.4), and  $z, w \in \mathcal{U}$ . In order to derive our main results, we shall need the following Lemma A.

**Lemma A** Let the function  $\Phi(z) = 1 + h_1 z + h_2 z^2 + \dots, z \in \mathcal{U}$  such that  $\Phi \in P_\xi(\beta)$  then

$$|h_n| \leq \xi(1 - \beta), n \geq 1.$$

**3. Coefficient estimates**

In general, for any  $n \geq 2$  and for any  $p \in \mathbb{R}$  an expansion is [1],

$$K_n^p = pa_n + \frac{p(p-1)}{2} D_n^2 + \frac{p!}{(p-3)!3!} D_n^3 + \dots + \frac{p!}{(p-n)!n!},$$

where  $D_n^l = D_n^l(a_2, a_3, \dots, a_n)$  and by [2]

$$D_n^l = D_n^l(a_2, a_3, \dots, a_n) = \sum_{i_1, \dots, i_{n-1}} \frac{l!}{i_1! \dots i_{n-1}!} a_2^{i_1} \dots a_n^{i_{n-1}},$$

and the sum is taken over all non-negative integers  $i_1, \dots, i_{n-1}$  satisfying

$$i_1 + i_2 + \dots + i_{n-1} = li_1 + 2i_2 + \dots + (n-1)i_{n-1} = n-1.$$

It is clear that  $D_n^n(a_2, a_3, \dots, a_n) = a_2^n$ .

Similarly, using the Faber polynomial expansion of functions  $f \in \mathcal{A}$  of the form (1.3), that is

$$f(z) = z + \sum_{k=1}^{\infty} a_{mk+1} z^{mk+1} = z + \sum_{k=1}^{\infty} K_k^{\frac{1}{m}}(a_2, a_3, \dots, a_{k+1}) z^{mk+1}$$

the coefficients of its map  $g = f^{-1}$  may be expressed as

$$g(w) = f^{-1}(w) = w + \sum_{k=1}^{\infty} \frac{1}{mk+1} K_k^{-(m+1)}(a_{m+1}, a_{2m+1}, \dots, a_{mk+1})w^{mk+1}. \tag{3.1}$$

Consequently, for functions  $f \in S_{\Sigma}(\lambda, \tau, \beta, \xi)$  of the form (1.3), we can write

$$1 + \frac{1}{\tau} \left[ \frac{zf'(z) + \lambda z^2 f''(z)}{\lambda z f'(z) + (1-\lambda)f(z)} - 1 \right] = 1 + \sum_{k=1}^{\infty} F_k(a_{m+1}, a_{2m+1}, \dots, a_{mk+1})z^{mk}. \tag{3.2}$$

In particular, the first three terms of  $F_k(a_{m+1}, a_{2m+1}, \dots, a_{mk+1})$  are

$$F_1 = \frac{1}{\tau} m(\lambda m + 1)a_{m+1},$$

$$F_2 = \frac{1}{\tau} m[2(2\lambda m + 1)a_{2m+1} - (\lambda m + 1)^2 a_{m+1}^2],$$

$$F_3 = \frac{1}{\tau} m[3(3\lambda m + 1)a_{3m+1} - 3(\lambda m + 1)(2\lambda m + 1)a_{m+1}a_{2m+1} + (\lambda m + 1)^3 a_{m+1}^3].$$

In our first theorem, we introduced an upper bound for the coefficients  $|a_{mk+1}|$  of  $m$ -fold symmetric analytic bi-univalent functions in the class  $\mathcal{S}_{\Sigma_m}(\lambda, \tau, \beta, \xi)$ .

**Theorem 3.1** For  $0 \leq \lambda \leq 1$  and  $0 \leq \beta \leq 1$ , let the function  $f \in \mathcal{S}_{\Sigma_m}(\lambda, \tau, \beta, \xi)$  be given by (1.3). If  $a_{mj+1} = 0, 0 \leq j \leq k - 1$ , then

$$|a_{mk+1}| \leq \frac{\xi(1-\beta)|\tau|}{mk(\lambda mk + 1)}, \quad (k \geq 2).$$

**Proof** For the function  $f \in \mathcal{S}_{\Sigma_m}(\lambda, \tau, \beta, \xi)$  of the form (1.3); we have the expansion (3.2) and for the inverse map  $g = f^{-1}$ , considering (1.4) and (3.1), we obtain

$$1 + \frac{1}{\tau} \left[ \frac{wg'(w) + \lambda w^2 g''(w)}{\lambda wg'(w) + (1-\lambda)g(w)} - 1 \right] = 1 + \sum_{k=1}^{\infty} F_k(A_{m+1}, A_{2m+1}, \dots, A_{mk+1})w^{mk}, \tag{3.3}$$

with

$$A_{mk+1} = \frac{1}{mk+1} K_k^{-(m+1)}(a_{m+1}, a_{2m+1}, \dots, a_{mk+1}) \quad k \geq 1.$$

On the other hand, since  $f \in \mathcal{S}_{\Sigma}(\lambda, \tau, \beta, \xi)$  and  $g = f^{-1} \in \mathcal{S}_{\Sigma_m}(\lambda, \tau, \beta, \xi)$ , by definition, there exist two positive real part functions:

$$p(z) = 1 + \sum_{k=1}^{\infty} p_{mk}z^{mk} \quad \text{and} \quad q(w) = 1 + \sum_{k=1}^{\infty} q_{mk}w^{mk}, \tag{3.4}$$

where  $\Re(p(z)) > 0$  and  $\Re(q(z)) > 0$  in  $\mathcal{U}$ . So that

$$1 + \frac{1}{\tau} \left[ \frac{zf'(z) + \lambda z^2 f''(z)}{\lambda z f'(z) + (1 - \lambda)f(z)} - 1 \right] = p(z),$$

$$\frac{1}{\tau} \left[ \frac{zf'(z) + \lambda z^2 f''(z)}{\lambda z f'(z) + (1 - \lambda)f(z)} - 1 \right] = \sum_{k=1}^{\infty} K_k^1(p_m, p_{2m}, \dots, p_{km}) z^{km}, \tag{3.5}$$

and

$$1 + \frac{1}{\tau} \left[ \frac{wg'(w) + \lambda w^2 g''(w)}{\lambda w g'(w) + (1 - \lambda)g(w)} - 1 \right] = q(w),$$

$$\frac{1}{\tau} \left[ \frac{wg'(w) + \lambda w^2 g''(w)}{\lambda w g'(w) + (1 - \lambda)g(w)} - 1 \right] = \sum_{k=1}^{\infty} K_k^1(q_m, q_{2m}, \dots, q_{km}) w^{km}. \tag{3.6}$$

From Lemma A,  $|p_k| \leq \xi(1 - \beta)$  and  $|q_k| \leq \xi(1 - \beta)$  for all  $k \geq 1$ .

Comparing the corresponding coefficients of (3.2) and (3.4), for any  $k \geq 1$

$$F_k(A_{m+1}, A_{2m+1}, \dots, A_{mk+1}) = K_k^1(q_m, q_{2m}, \dots, q_{km}).$$

Note that for  $a_{mj+1} = 0$ , ( $1 \leq j \leq k - 1$ ) we have

$$A_{mk+1} = -a_{mk+1},$$

and so

$$\frac{1}{\tau} mk(\lambda mk + 1)a_{mk+1} = p_{mk},$$

$$\frac{1}{\tau} mk(\lambda mk + 1)A_{mk+1} = q_{mk}.$$

From here we can write

$$-\frac{1}{\tau} mk(\lambda mk + 1)a_{mk+1} = q_{mk}.$$

Taking the absolute values of the above equalities, we obtain

$$|a_{mk+1}| = \frac{|p_{mk}||\tau|}{|mk(\lambda mk + 1)|} = \frac{|q_{mk}||\tau|}{| -mk(\lambda mk + 1)|}.$$

By using Lemma A

$$|a_{mk+1}| \leq \frac{\xi(1 - \beta)|\tau|}{mk(\lambda mk + 1)}, \quad (k \geq 2).$$

This completes the proof. □

By setting  $\tau = 1, \xi = 2, \lambda = 0, \beta = \alpha$  in the Theorem 3.1, we get following consequence.

**Corollary 1.** [5] For  $0 \leq \lambda \leq 1$  and  $m \in \mathcal{N}$  let the function  $f \in \mathcal{S}_{\Sigma_m}(\lambda, \tau, \beta, \xi) = \mathcal{S}_{\Sigma_m}^*$  be given by (1.3) if  $a_{mj+1} = 0$ , ( $1 \leq j \leq k - 1$ ), then

$$|a_{mk+1}| \leq \frac{2(1 - \alpha)}{mk}, (k \geq 2).$$

**Remark 1.** For one-fold case, we get the class  $\mathcal{S}_{\Sigma}(0, 1, \alpha, 2) = \mathcal{S}_{\Sigma}^*(\alpha)$  and the coefficient estimate as follows:

$$|a_{k+1}| \leq \frac{2(1 - \alpha)}{k}, (k \geq 2).$$

**Theorem 3.2** For  $0 \leq \lambda \leq 1$  and  $0 \leq \beta \leq 1$ , let the function  $f \in \mathcal{S}_{\Sigma_m}(\lambda, \tau, \beta, \xi)$  be given by (1.3) then one has the following

$$|a_{m+1}| \leq \begin{cases} \sqrt{\frac{\xi(1-\beta)|\tau|}{m[(m+1)(1+2m\lambda)-(1+m\lambda)^2]}}, & 0 \leq \beta < \frac{\xi[(m+1)(1+2m\lambda)-(1+m\lambda)^2]|\tau|-m(1+m\lambda)^2}{\xi[(m+1)(1+2m\lambda)-(1+m\lambda)^2]|\tau|} \\ \frac{\xi(1-\beta)|\tau|}{m(1+m\lambda)}, & \frac{\xi[(m+1)(1+2m\lambda)-(1+m\lambda)^2]|\tau|-m(1+m\lambda)^2}{\xi[(m+1)(1+2m\lambda)-(1+m\lambda)^2]|\tau|} < \beta < 1, \end{cases} \quad (3.7)$$

$$|a_{2m+1}| \leq \min \left\{ \frac{\xi(1 - \beta) \{ |2(m + 1)(1 + 2m\lambda) - (1 + m\lambda)^2| + (1 + m\lambda)^2 \} |\tau|}{4m(1 + 2m\lambda) |(m + 1)(1 + 2m\lambda) - (1 + m\lambda)^2|}, \frac{\xi(1 - \beta)|\tau|}{2m(1 + m\lambda)} + \frac{\xi^2(1 - \beta)^2(m + 1)|\tau|^2}{2m^2(1 + m\lambda)^2} \right\}, \quad (3.8)$$

$$\left| \frac{|2(1 + 2m\lambda)(m + 1) - (1 + m\lambda)^2|}{2(1 + 2m\lambda)} a_{m+1}^2 - a_{2m+1} \right| \leq \frac{\xi(1 - \beta)|\tau|}{2m(1 + 2m\lambda)}.$$

**Proof** We set  $k = 1$  and  $k = 2$  in equalities (3.5) and (3.6), respectively, and we get the following equations:

$$\frac{1}{\tau} m(m\lambda + 1)a_{m+1} = p_1, \quad (3.9)$$

$$\frac{1}{\tau} [2m(2m\lambda + 1)a_{2m+1} - m(m\lambda + 1)^2 a_{m+1}^2] = p_2, \quad (3.10)$$

$$-\frac{1}{\tau} m(m\lambda + 1)a_{m+1} = q_1, \quad (3.11)$$

$$\frac{1}{\tau} \{ [2m(2m\lambda + 1)(m + 1) - m(m\lambda + 1)^2] a_{m+1}^2 - 2m(2m\lambda + 1)a_{2m+1} \} = q_2. \quad (3.12)$$

From the Lemma A, we find

$$|a_{m+1}| \leq \frac{\xi(1 - \beta)|\tau|}{m(m\lambda + 1)}. \quad (3.13)$$

From (3.10) and (3.12), we obtain

$$\frac{2m}{\tau} [(m + 1)(1 + 2m\lambda) - (1 + m\lambda)^2] a_{m+1}^2 = p_2 + q_2. \quad (3.14)$$

Using Lemma A, we get

$$|a_{m+1}| \leq \sqrt{\frac{\xi(1-\beta)|\tau|}{m[(m+1)(1+2\lambda m) - (1+\lambda m)^2]}}$$

and combining this with the inequality (3.13), we obtain the desired estimate on the coefficient  $|a_{m+1}|$  as asserted in (3.7). Next, in order to find the bound on the coefficient, we subtract (3.12) from (3.10). We thus get

$$\frac{1}{\tau} \{4m(1+2\lambda m)a_{2m+1} - 2m(1+2\lambda m)(1+m)a_{m+1}^2\} = p_2 - q_2$$

or

$$a_{2m+1} = \frac{m+1}{2}a_{m+1}^2 + \frac{(p_2 - q_2)\tau}{4m(1+2m\lambda)}. \tag{3.15}$$

Upon substituting the value of  $a_{m+1}^2$  from (3.9) into (3.15), it follows that

$$a_{2m+1} = \frac{(m+1)p_1^2\tau^2}{2m^2(1+m\lambda)^2} + \frac{\tau(p_2 - q_2)}{4m(1+2m\lambda)}. \tag{3.16}$$

We thus easily find (by using Lemma A) that

$$|a_{2m+1}| \leq \frac{\xi(1-\beta)|\tau|}{2m(1+2m\lambda)} + \frac{\xi^2(1-\beta)^2(m+1)|\tau^2|}{2m^2(1+m\lambda)^2}. \tag{3.17}$$

On the other hand, upon substituting the value of  $a_{m+1}^2$  from (3.14) into (3.15), it follows that

$$a_{2m+1} = \frac{(m+1)(p_2 + q_2)\tau}{4m[(m+1)(1+2m\lambda) - (1+m\lambda)^2]} + \frac{(p_2 - q_2)\tau}{4m(1+2m\lambda)}. \tag{3.18}$$

Applying Lemma A and making some arrangements, we can easily obtain the inequality as follows:

$$|a_{2m+1}| \leq \frac{\xi(1-\beta) \{ |2(m+1)(1+2m\lambda) - (1+m\lambda)^2| + (1+m\lambda)^2 \} |\tau|}{4m(1+2m\lambda) |(m+1)(1+2m\lambda) - (1+m\lambda)^2|}. \tag{3.19}$$

Finally from (3.12) by using the Lemma A, we find that,

$$\left| \frac{2(1+2m\lambda)(m+1) - (1+m\lambda)^2}{2(1+2m\lambda)} a_{m+1}^2 - a_{2m+1} \right| \leq \frac{\xi(1-\beta)|\tau|}{2m(1+2m\lambda)}. \tag{3.20}$$

This completes the proof of Theorem 3.2. □

By setting  $\tau = 1, \xi = 2, \lambda = 0, \beta = \alpha$  in Theorem 3.2 we obtain following consequence.

**Corollary 2.** [5] For  $0 \leq \lambda \leq 1$  and  $m \in \mathcal{N}$  let the function  $f \in \mathcal{S}_\Sigma(0, 1, \alpha, 2)$  be given by (1.3), then one has the following:

$$|a_{m+1}| \leq \begin{cases} \frac{\sqrt{2(1-\alpha)}}{\frac{m^2}{m}}, & 0 \leq \alpha < \frac{1}{2} \\ \frac{2(1-\alpha)}{m}, & \frac{1}{2} \leq \alpha < 1, \end{cases}$$



$$|a_{2m+1}| \leq \min \left\{ \frac{(m+1)(1-\alpha)}{m^2}, \frac{2(m+1)(1-\alpha)^2}{m^2} + \frac{1-\alpha}{m} \right\},$$

$$\left| a_{2m+1} - \frac{2m+1}{2} a_{m+1}^2 \right| \leq \frac{1-\alpha}{m}.$$

**Remark 2.** For one-fold case of Corollary 2, we obtain the following consequence.

$$|a_2| = \begin{cases} \sqrt{2(1-\alpha)}, & 0 \leq \alpha < \frac{1}{2}, \\ 2(1-\alpha), & \frac{1}{2} \leq \alpha < 1, \end{cases}$$

$$|a_3| \leq \min \{2(1-\alpha), (1-\alpha)(5-4\alpha)\},$$

$$|a_3 - \frac{3}{2}a_2^2| \leq 1-\alpha.$$

### Acknowledgment

The present investigation of the first author was partly supported by Batman University Scientific Research Project Coordination Unit. Project Number: BTUBAP-2018-IIBF-2.

### References

- [1] Airault H, Bouali A. Differential calculus on the Faber polynomials. Bull Sci Math 2006; 130: 179-222.
- [2] Airault H. Remarks on Faber polynomials. Int Math Forum 2008; 3: 449-456.
- [3] Brannan DA, Clunie JG. Aspects of Contemporary Complex Analysis. New York, NY, USA: Academic Press, 1980.
- [4] Faber G. Uber polynomische Entwicklungen. Math Ann 1903; 57: 389-408 (article in German).
- [5] Hamidi SG, Jahangiri JM. Unpredictability of the coefficients of m-fold symmetric bi-starlike functions. Internat J Math 2014; 25: 1-8.
- [6] Lewin M. On a coefficient problem for bi-univalent functions. Proceedings of the American Mathematical Society 1967; 18: 63-68.
- [7] Mazi E, Altinkaya S. On a new subclass of m-fold symmetric bi-univalent functions equipped with subordinate conditions. Khayyam Journal of Mathematics 2018; 2: 187-197.
- [8] Netanyahu E. The minimal distance of the image boundary from the origin and the second coefficient of a univalent function in  $|z| < 1$ . Arch Rational Mech Anal 1969; 32: 100-112.
- [9] Srivastava HM, Sivasubramanian S, Sivakumar R. Initial coefficient bounds for a subclass of m-fold symmetric bi-univalent functions. Tbilisi Mathematical Journal 2014; 7: 1-10.
- [10] Sümer Eker S. Coefficient bounds for subclasses of m-fold symmetric bi-univalent functions. Turkish J. Math 2016; 40: 641-646.
- [11] Vyas PP, Kant S. Estimates on initial coefficient of certain subclass of bi-univalent functions associated with the class. International Journal of Mathematics and its Applications 2017; 5: 165-169.